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S={(1,w,w?): x} , where w is a imaginary cube root of unity.

Form composition table for multiplication.
2-,~\qu sin ™' (34) + sec ™! (¥) = x B & x 1 FH & F |

Find the value of x, if sin™!(4) + sec " (43) =X -

- -11 -1 1
3 R A=[ . ]} kil Azmaﬂﬁ!ﬁlFindAl.ifA'_'[ | 1]- !
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4. 2x2 =1 Sege I Fifed afg ay =2i -3y

\-\\ -
Write the matrix of order 2x2 whose elements are given by
a, =2i-3i.
5 stecz xdx =1 T Fd %1 1 Evaluate J.xscc: xdx 1
A Sk A wU | 1
S (20 KI+() ki) FAE
PT.O.
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'Fa&mntmof[zi'j kl+0) ki)
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™5 ' % ~ f 1
b.lli*'zj*“‘

For what value of &, 3 and p are perpendicular 10 each other,

where 3 =2i+3j+4K: b=3iv2j 5,

] x~1 }"‘2 L 2-3 x - v Z -0
5 wad — =77 si : qTE
s W 3 %k 2 SO : -
-] " N
= weaEe B Wk A F HU
- "‘I_K_z_f;i L z-6
-;;' ""IHES —3 = l)k 2 dnd __;k_ ] and [ 1
15. pendicular to each other, find value of k
=
9. P sEdel & st §ETa & T 9 cud ‘
Show the region of feasible soluion under the following constaints

in answer book

2x+3y<6, x20, y>0

7 9 4
10. ﬂﬁ" P[J‘.\):——-‘1P{B == 477 P{ADN - — 7 Rl A
5 P® 5 A(B) S A “\/B\ G

1
1

7 9
IfP(A)= — P(B)- ~ 4
13 ) I3 and P(A(B) |_3' then find P(S}/B)
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n. ot R-RIW LR RYE w6 f00=3x+4

N

lf'f‘*R—rRmd g:R— R are two function such that f(x

and s(x}-

12. fag =0- (Prove that) sin"_(i]_cm—l(%] =

N

41
fag +0- (Prove that) 2tan '(5)—&1:1

et

B(x)=-§-'3—i A A fog (x) TN gog (1) 1 A A |

4 , then find fog (x) and gog (1)-

5
OR

1

-
2 1
—4?]?““8[14—]
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A_-J
IFA=l

21 - 35 -2
-4 ?]a"dﬂ'[-l 4 —2}'

of A+B and A-B.
1\:\ ey Tt frma ) ey fafu R g6 %00

Solve the following system of equations by matrix method :

5x -3y=2
x+2y=3

\§ qﬁwf(x)= K

x'4+x’-16x+20 x#2
(x -2)°

Xx=2

A K F A Ji F: 1
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A(9)
" (65

=T 2
4

T 91 A+B 991 A—

2

then find the value

g wEm@x=29

2
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m V.luc o:rK ifﬂlc fllm:l iﬂl‘l

x'ex’ -16x+20 x=2

————em Ty
(x-2Y

K X=12

f(x) =

15 Continous at x = 2

@ &
o y = log, (secx + tanx) T 0 3 & | 3

'.\1..

a3 s
Find dx "' y = log, (s¢CX +lanx)

o .,
sinf{tan ' x)

\q_\lm 7 & [Evaluate) !

—_—dx
I+ x* 1

OR

Bil

i1+sinx dx

oM §1d F [Evaluate] _{ v
0

\& m}.z:.;xamx:;ﬁuﬁa—;,‘:‘-‘q F1 SFTEH FE F0) )
Find the area of the region enclosed by y* = d4x and x = 3.

feg &1 f& - (Prove that) 2

\‘I\O.

i . I e T - -
ﬂl(bxc)+bx(cxa}+c:~:(ax by=0
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a+b+2c c c
a b+c+2a a =2(a+b+c}3

b b c+a+2b|
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22. T q9 ¥ R wEE w9 R S cav/sec W) T A WY WA LR IR
| & 79 & aIwa few =7 @ g o ¢ ww fsn 6 At 3

I'he radius of the circle 15 ICreasing uniformly at the rate of Scmv

sec, ring the rate of change in area when radius is 6m.

@At ( OR )

F x4y -3 0 F T fa sl @) g F 0 W] 90 e T« 5

& W R
COs”™ X . . CcUs X
f\ J ——— dx & =3 F1 Evaluate J — dx
l+sinx P+ smx

l:.} AR 7 = 4ay W1 VA y = x BT WER Squtn f oA
HIFE FTA SN ¢ 3

Find the area of the region bounded by the parabola v* - 4ax and

line ¥ = X in the first quadrant
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(6] Pits
: ey
E”Wﬁmﬂﬂﬂmﬂf@ﬂﬁfﬂmm ,
| sfurmm z=5xty
Ay 3+ Sy <15,5x+2y <10
x>0,y=0
Solve the linear programming problem by graphical method for
max z=5x+y
constraints Ix+ Sy <15,5x+2y <10

x>0,y>0

oI - © (Section - D)
t L dy
26. ﬂf‘(x=a[cost+logtanaj,y=asml,;ﬂ . A7 FifeA |
\
dy

t : Lo, @
IfFX= a[cost + log tan i—)y =asint then find W
dx

3ET ( OR ) rbseonline.com

) dz { d
M y = (sin” x)? g F G (1-x7) = —x"L-2=0
dx dx
e | 1 dzy dy
If y =(sin™' x)? then prove that (I - X )—5 -x—=-2=0
dx dx
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——dX FHA —d 5
Il+smxd ® T Evaluate : j1+smx %

. dy_x+fy+[
2N, Fd T 3 T ry o] MR 5

Xx+y+l1
x+y-—1

Solve the differential equation % =
OR

¥ H0- Solve that : (1+y?)dx = (tan”' y — x)dy

1 _y-2 _z-l

X—-2
-Kh sl = oy M T

qﬂaﬁﬂﬂﬁ'&l | 5

1
s

x-1 y-2 z-1

= = and
1 -1 1

Find the distance between the lines

x-2 y+l z+1
2 I 2

areEat (OR)

& WHA F @8 FEY A, b,c¥ w@ sHR @ fag A g P &
1 = ———
A fag F0- ;’*E’f'" R

If a plane has intercept 2, b, c on th
from the origin, the prove that
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e axes and at a distance ‘P’
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obtained on a throw ol an unbi-

Find the varance of the number
aScd l.:it.'
FJgar (OR )
A T oo = P I
i faarfdEi g0 TF B9 1 g0 &1 H1 MR Ho: —, = F
F }

! : N
— 3 AT R R A F W
4

Probability of solving a probi

Find the prob

fayavan i ahirerd |

em by three students are respectively

D1ty that probiem 1s solved.

http://www.rbseonlinc.com

WO AWUOISQE maray//sdny



